Using the period 2000–02 as the base period, compute a simple index of domestic sales for each year from 2003 to 2012.

[image: image1.png]Domestio Sales  International Sales  Employees
Year __(§ million) (6 million) (thousands)
2000 17,316 11,856 1009
2001 19,825 12492 1018
2002 22,455 13,843 1083
2003 25274 16,588 1106
2004 27,770 19578 1099
205 377 2,137 1156
2006 29775 22,549 122
2007 2444 28,651 1192
2008 2,309 31438 1187
2009 0,889 31,008 1155
2010 20437 2,124 1140
2011 28907 36,107 179
2012 29832 7371 1187
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SOLUTION:

The leading economic indicator is a leading indicator which measures the changes in economy among two different financial years. Moreover, leading indicator is widely used to forecast the alternations in economy however it is not always accurate. In addition to that, these economic indicators are published on monthly or weekly basis by the conference board. These indicators further used for the economy movements which record changes on the overall economy. This major indicator includes average working hours, average number of employees working, amount of manufactures etc. It supports economy to improve the overall system which is very effective feature for the betterment.
[image: image2.emf]Year 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012

Index(2000-2002=100) 127.2 139.8 142.8 149.9 163.3 162.6 155.5 148.2 145.5 150.2


